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Pre-Calculus 110
Unit 6: Absolute Value Functions and Equations

May 15, 2019: Day #2

1. Any Questions?

p. 363-367
#1 ace, 2, 4, 5, 6 acde, 7 ace, 8, 10, 12, 14, 18, 21, 22, 23
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Curriculum Outcomes

AN1: Demonstrate an understanding of the absolute value of real
numbers.

RF2. Graph and analyze absolute value functions (limited to linear
and quadratic functions) to solve problems.

Jan 29-9:29 AM
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Absolute Value
Functions

Stroboscopic photography involves using a flashing strobe light and a
camera with an open shutter. You must take stroboscopic photographs in
darkness so that every time the strobe flashes, you take a still image of a
moving object at that instant. Shown here is a stroboscopic photograph
following the path of a bouncing ball. To measure the total vertical
distance the ball travels as it bounces over a certain ime interval, use
the absolute value of the function that models the height over time. What
type of function would you use to model the height of this bouncing ball
over time?
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Investigate Absolute Value Functions

| In this activity, you will explore the similarities and differences between
linear, quadratic, and absolute value functions.

Part A: Compare Linear Functions With Corresponding Absolute Value
Functions

Coneider the functions f(x) = x and g(x) = |x|.

1. Copy the table of values. Use the values of f(x] to
determine the values of g(x) and complete the table.

X F(x) g(x)
-3 -3 2
-2 -2 rd
-1 -1 |

0 0 o

1 1 |

2 2 2

3 3 2

rF

Yo

......

......
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Reflect and Respond

3. Which characteristics of the two graphs are similar and which
are different?

4. From the graph, explain why the absolute value relation is
a function.

5. a) Describe the shape of the graph of g{x].

b) If you could sketch the graph of g(x) using two linear functions,
what would they be? Are there any restrictions on the domain
and range of each function? If so, what are they?

May 14-6:53 PM
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Part B: Compare Quadratic Functions With Corresponding Absolute
Value Functions

Consider the functions f(x) = x* — 3 and h(x) = |¥* — 3|.

6. Copy the table of values. Use the values of f(x) to
determine the values of h(x) and complete the table.

X fix) h(x)
-3 6 b
_2 1 I When are the
values of fix) and
-1 -2 L h{x) the same and
o _3 3 when are they
different?
1 -2 T
2 1 (
3 6 [

7. Use the coordinate pairs to sketch the graphs of f(x)
and h(x) on the same grid.
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Reflect and Respond

8. Which characteristics of the two graphs are similar and which
are different?

9. a) For what values of x are the graphs of f(x) and h(x) the same?
different?

b) If you could sketch the graph of h(x) using two quadratic
functions, what would they be? Are there any restrictions on
the domain and range of each function? If so, what are they?

10. Describe how the graph of a linear or quadratic function is
related to its corresponding absolute value graph.
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absolute value
function
» afunction that involves

the absolute value of a
variable

piecewise function

* afunction composed of
two or more separate
functions or pieces,
each with its own
specific domain, that
combine to define the
overall function

* the absolute value
function y = |x| can
be defined as the
piecewise function

x,ifx=0
y= { —x,ifx <0
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Example 1

b) Sketch the graph.
¢) State the domain and range.
d) Express as a piecewise function.

«) ldtN=0  lty=0
\f:lz(ot-7\ o= |3l
¥= -3 Q=30

WS

\&3{

('35\"

Graph an Absolute Value Function of the Form y = |ax + b|

Consider the absolute value function y = |2x — 3].
a) Determine the y-intercept and the x-intercept.

e

May 14-6:59 PM
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Your Turn \/= 3\1-\- \

Consider the absolute value function v = |3x + 1|.
a) Determine the y-intercept and the x-intercept. (0‘ ‘)
b) Sketch the graph. (|)t()

¢) State the domain and range.
d) Express as a piecewise function.

May 14-7:02 PM
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Example 2
Graph an Absolute Value Function of the Form f(x) = |ax? + bx + ¢|

Comnsider the absolute value function f(x) = |—x* + 2x + 8].

a) Determine the y-intercept and the x-intercepts. . K" _ %
b) Sketch the graph. W=
¢) State the domain and range. Y ‘\ 4
d) Express as a piecewise function. - .
e \,Q}N‘\“X a0
4 y“t L\[‘% 10
(v )(ya2) 0
)( < '4 -
d— - -~
/
C
J

~(
.Ll'w) \(¢~z
ik -Lexsy
S8 s g
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Your Turn

Consider the absolute value function filx) = |x* — x — 2|.
a) Determine the y-intercept and the x-intercepts.

b) Sketch the graph.

¢) State the domain and range.

d) Express as a piecewise function.

Yyl vE-230
CorY) ()= o
Y= or- |

g% {~
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Textbook:

Minimum Preparation:

# p.375-378

#1a, 2, 3,4, 5ac, bace, 7ab, 8ace, 9, 10,
11ac, 12, 13, 15, 17, 19

Jan 29-10:15 AM

15



Day 2 Absolute Value Functions.notebook

May 15, 2019

May 24-8:55 AM

16



Attachments

Q Standard Form Demor.GSP
Q  Warm ups.notebook



SMART Notebook




images/clipboard(7).png









images/clipboard(5).png









images/clipboard(4).png









images/question border brown.png









annotationmetadata/metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=BEDB605F-6299-45A2-8DDD-C2532BCCD278  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/png    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-26T10:50:43  1.0  LOMv1.0 final






images/orangePullTab.png









annotationmetadata/metadata(2).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=5CDC4F12-7EE7-4B8D-BF2C-F6C7F133270B  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-16T15:23:04  1.0  LOMv1.0 final






images/ChapterNumber_Tag.jpg









images/equation(14750).png

Sx +16








images/equation(22).png

p° —25
p°> —10p + 25








images/equation(31).png









images/equation(32).png









images/equation(33).png

2xX° + 5y
X—Yy








images/equation(34).png









annotationmetadata/metadata(1).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=2C6B2D06-5A4F-4B2E-9E5B-02457FF5575E  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-16T14:57:54  1.0  LOMv1.0 final






images/temp(4).png









images/temp(3).png









images/temp(1).png









images/brownBtn.png









annotationmetadata/metadata(3).xml

 
   
     
       URI
       http://www.adlnet.org/metadata/MDO_01
    
     LOMv1.0
     SCORM_CAM_v1.3
  
   
     
       URI
       http://fd16a709-8b28-4662-b5bd-63dc86eeb34e.com/75a683e889e1dd802af12faf9d3fe7b8
    
     
       Brown - button 1
    
     
       Brown - button 1
    
     
     
       
    
  
   
     application/x-smarttech-galleryitem;x-original-type=image/png
  
   
     
       LOMv1.0
       no
    
     
       LOMv1.0
       yes
    
     
       
    
  
   
     
       2009-02-26T21:08:53
    
     
       LOMv1.0
       final
    
  







images/equation(13588).png

xX+4

=x+2, x+0








images/equation(49).png

X_

2X

=x*-2 x=#0








images/equation(68).png









images/equation(23448).png

x> +6x+8

=x+4, x#2,4
X+ 2








images/equation(71).png

r’—4
5r +10

r—2
5

, rerR








images/equation(73).png

2_ J—
g 3 —Bt+4_t-2, .2
612 _4t 2t 3








annotationmetadata/metadata(6).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=11B99417-5A45-46E8-A455-A3158608851A  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/png    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-12T09:42:59  1.0  LOMv1.0 final






images/clipboard.png









annotationmetadata/metadata(4).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=381C2605-6D80-42BF-851B-B8DBFC54BC3F  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-17T15:04:54  1.0  LOMv1.0 final






images/equation(75).png

A
w
X*+3x+2

x+1








images/equation(14498).png

X2 +3x+2  (x+2)(x+1)
x+1 x+1
=X4+2

b) XE-1X>-2









images/equation(22433).png

c) Ratio =

X §‘\

N | W








images/equation(80).png

2x® +10x% +12x . X+7

2x% +14x x> -9








images/orangeBtn.png









images/equation(83).png

- (x+2)

~(x-3)








annotationmetadata/metadata(7).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=0F84009E-ABE7-40CE-B3F9-80E370FC7525  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-17T16:53:24  1.0  LOMv1.0 final






images/equation(87).png

X+7 x°+9x+14

x2 -9  3x%?_-9x








annotationmetadata/metadata(26).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=E41A6C2B-835B-40CA-8AF6-28B7E75B52BF  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-04T10:09:54  1.0  LOMv1.0 final






images/equation(90).png

__ 3x
(X+3)(x+2)








images/equation(91).png

X #=—7,—-2,0,+3








images/equation(92).png

16ab 3x°y*

1.
ox'y?  8a’bh’









images/equation(93).png

S5xy _ 10xy”
6x%y 9x3y?









images/equation(95).png

m2—3m—4;m2—7m+12

3. 2 "2 e AE
m- +5m m-+2m-15








images/equation(96).png

x> +5x+6 x*+x-30
x> —-6x+5 x*+9x+18








images/temp(8).png









images/equation(129).png

A =2x%>+10x —12








images/equation(128).png

A =2x°> —-3x +1








images/equation(127).png









images/temp(12).png









images/equation(1927).png

2x* —3x+1 _ (2x—-1)(x—1)
x-1 X —1
=2x -1








images/equation(3279).png









images/temp(7).png









images/equation(3).png

Azlab
2

- %xZ(x—1)(2x—1)

—(x —1)(2x —1)








images/equation(1).png

2x? +10x—-12  2(x+6)(x —1)
X+ 6 X + 6
— 2(x —1)








images/equation(13938).png

X = —0








images/temp(11).png









annotationmetadata/metadata(9).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=1B4A242E-8921-43CF-A7B2-DF86955FC72F  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-17T19:03:59  1.0  LOMv1.0 final






annotationmetadata/metadata(10).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=A42E43D8-BB52-4630-A199-D15F194EF966  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-17T19:04:40  1.0  LOMv1.0 final






annotationmetadata/metadata(24).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=E4D11D8B-B8ED-45B7-886D-1D4575A87215  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:31:01  1.0  LOMv1.0 final






annotationmetadata/metadata(23).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=2A25BF79-4162-4B6B-98C3-9583775E3FEA  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:30:29  1.0  LOMv1.0 final






annotationmetadata/metadata(22).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=E7180BCA-9DBC-44A7-8B5A-38C59A6D9415  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:29:57  1.0  LOMv1.0 final






annotationmetadata/metadata(21).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=CD4C228B-F124-4F80-A4E5-59AB677D7420  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:29:28  1.0  LOMv1.0 final






annotationmetadata/metadata(19).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=7619AD8B-5203-4D1D-80E4-4B786663E62F  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:28:44  1.0  LOMv1.0 final






images/equation(51).png

5x* +25 5x(x + 5)
x(x +5) x?(x + 5)








images/equation(1908).png

x(x —4)? (x —4)(x +2)
x*(x —4)? xX(x —4)(x+2)








images/temp(10).png









annotationmetadata/metadata(16).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=F945E8B4-3DE4-4F14-BA68-51E9EECED29C  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:27:56  1.0  LOMv1.0 final






annotationmetadata/metadata(8).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=B85A50F9-7D85-4B12-B9A5-B5AC6866F556  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:27:21  1.0  LOMv1.0 final






annotationmetadata/metadata(11).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=0F290AE6-F8FD-4858-9B1C-80E69BD1FBD9  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:27:40  1.0  LOMv1.0 final






annotationmetadata/metadata(18).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=E5B2B674-A252-44F7-B67B-6B7691D9CD87  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:28:30  1.0  LOMv1.0 final






annotationmetadata/metadata(17).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=F0102AD6-83DE-490A-BB92-BB494F6DDCBB  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-03-01T10:28:15  1.0  LOMv1.0 final






images/equation(52).png

3(x +2) 9(x + 2)
3x(x+ 2) Ox








images/equation(54).png

X+3 X
x*(x+3) x(x + 3)°








images/equation(55).png

(x +6)*(x-6) (x + 6)(x —6)
(X +6)(x+6) (x—6)(x+6)








images/equation(135).png

_16 4
3(x+2) 3x








images/equation(136).png









images/equation(137).png

2 12
x(x—4) x*—-2x—-8








images/equation(138).png

2 1 X
4' _,2—,
X x(x+3) x+3









images/equation(139).png

2 12x
x? +12x+36 x> —36








images/equation(140).png









annotationmetadata/metadata(5).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=6B5C6AC7-FA06-43AE-8336-CDB30BE0218D  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=application/x-shockwave-flash    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-11-28T13:01:53  1.0  LOMv1.0 final






images/equation(141).png

X(x —4)








images/equation(142).png

6Xx(x —4)








images/equation(143).png

3(x —4)
(x —4)








images/equation(144).png

3(x —4)
(X —4)?








images/equation(145).png

X% —4x








images/equation(146).png

15x
5x% —20x








images/equation(147).png

3x -9
X —7Tx+12








images/equation(148).png

3(x + 2)
(X+2)(x—4)








images/equation(149).png

O(x + 2)
3(x+2)(x—4)








images/equation(150).png

12x%(x +1)
dx(x+1)(x—4)








images/equation(151).png

O x*
3x° —
12 x?








images/equation(152).png

3 X~
x> —4x°








images/equation(153).png

3ab
ab(x —4)








annotationmetadata/metadata(14).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=ADDFFFCA-41D9-4FEB-BC1C-C96F438D37C5  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/png    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-26T11:13:37  1.0  LOMv1.0 final






images/equation(25868).png

2 8
ab®* a‘b








images/equation(154).png

_|_
X+3 Xx+2









images/equation(155).png

x° -4 x+2









images/equation(5).png

Zaz_bfb a#0,b=0
a








images/equation(6).png

13x + 34

e X #=—3,—2
(x +3)(x +2)








images/equation(7).png

—8x+19

(X —2)(x + 2)








annotationmetadata/metadata(20).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=DBBBC70B-96C1-4A1F-BEC1-2239253ADCF0  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-smarttech-notebook-text=yes    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-11-28T16:49:44  1.0  LOMv1.0 final






images/equation(162).png

Speed — Dls’Fance
Time








images/equation(163).png

Distance
Speed

Time =








annotationmetadata/metadata(15).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=1354F147-D15A-4C10-BB1D-E1699BFFC242  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/png    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-26T11:25:16  1.0  LOMv1.0 final






images/equation(167).png

_I_—_—
a-3 a*-9 a*-2a-3








images/equation(168).png

B a’ +4a+1
- (@-3)a+3)a+1)








images/equation(170).png

_a’+4a+3+a+1-a-3
(@a-3)a+3)a+1)








images/equation(171).png

_+r .+ 1
a-3 (a-3)a+3) (@a-3)a-+1)








images/equation(172).png

a=x—1+3








images/equation(8).png

_Na+3)a+1)+1a+1)—-1a+3)
B (a—3)a+3)a+1)








images/equation(27789).png

_ 2x(x+2)(x +3) . X+7
- 2x(x+7) (x —3)(x+3)








images/equation(82).png

_2x(x2+5x+6) X+7
- 2x(x+7) ° (x—=3)(x+3)








images/equation(88).png

_ X+7 L (x+7)(x+2)
(x—3)x+3) 3x(x-3)








images/equation(89).png

X+7 3x(x—3)
(x 3)(x + 3) (x+7)x+2)








images/equation(9).png

B xX+7 y 3x(x —3)
C(x=3)x+3) (x+7)x+2)








images/equation(98).png

_ 16ab 3x°y*
ox*y?  8a’b?









images/equation(26791).png

_2xy~

3ab








images/equation(100).png

X0,y =0








images/equation(110).png

~ 5xy ><9x3y2

- 6x%y  10xy?









images/equation(16437).png

_A5xTy”
60x°y°>








images/equation(113).png









images/equation(114).png

X =0,y =0,
a=0,b=0








images/equation(115).png

_(m—4)(m+1)x(m+5)(m—3)
 m(m+5) (m—3)(m—4)








images/equation(116).png

:(m+1)








images/equation(123).png

m = —5,0,3,4








images/equation(124).png

_ (x+3)(x+2) (x-5)(x+86)
(X—5)(x—1)  (x+6)x~+3)








images/equation(125).png

- (x+2)

- (x—1)








images/equation(126).png

X #—-6,-3,15








images/equation(156).png

3 8 3-8(x-2)
T x2—4 x+2 (x-2)(x+2)
_ 3-8x+16
(x—2)(x+2)
_ —8x+19
(x—2)(x+2)









images/equation(157).png

5 N 8 :5(x+2)+8(x+3)
X+3 x+2 (x+3)(x+2)
_ Sx+10+8x+24
T (x+3)(x+2)
_ 13x+34
C (x+3)(x+2)









images/equation(158).png

2 8 2a-8b
ab®> a‘b a’b?








images/equation(159).png

a=0,b=0








images/equation(160).png

X = -3, 2








images/equation(161).png

X # +2








images/equation(164).png

30
X + 1









annotationmetadata/metadata(12).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=81459F21-C715-4F18-AE16-0CB4BE69983E  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-original-type=math    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-17T20:31:41  1.0  LOMv1.0 final






images/equation(165).png









annotationmetadata/metadata(13).xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=9B66C558-1967-461B-AB49-05F7FB319F0A  ﻿  ﻿  ﻿  application/x-smarttech-galleryitem;x-original-type=image/xml+svg;x-original-type=math    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2011-01-17T20:31:55  1.0  LOMv1.0 final






images/equation(166).png

30_ 30

X x+1:
30 30

x(x + 1)[— — —} =1(x)(x +1)

X x+1
30(x+1)—30x=x°+x
30x+30—-30x=x°+Xx

30=x"+x
x*+x-30=0
(x+6)(x—5)=0
X+6=0 or x-5=0
X=—"6 x=5








settings.xml

 






imsmanifest.xml

   ADL SCORM CAM 1.3 metadata.xml    Group 1                                                                                                                                                                                              






metadata.xml

    URI http://www.adlnet.org/metadata/MDO_01 LOMv1.0 SCORM_CAM_v1.3   URI http://tempuri.org/randomid?id=0051577B-FD4D-44C9-9D13-6B6E5D81DA61  ﻿  ﻿  ﻿  application/x-smarttech-notebook    LOMv1.0 browser  LOMv1.0 x-smarttech-notebook ms-windows:9.5;macos:9.5;unix:9.5   LOMv1.0 no  LOMv1.0 yes  ﻿  2010-11-27T17:10:24  1.0  LOMv1.0 final






preview.png

Pre-Calculus 11

Chapter 6

Rational Expressions
and Equations









assessment.xml





metadata.rdf

 







metadata.db





page1.svg

  Apr 13-1:09 PM            McGraw-Hill Ryerson    Pre-Calculus 11     Chapter 6    Rational Expressions   and Equations






page2.svg

  Apr 13-1:35 PM         McGraw-Hill Ryerson Pre-Calculus 11    Teacher Notes       1. This lesson is designed to help students conceptualize   the main ideas of Chapter 6.      2. The lesson was written using SMART Notebook 10.0.   Other versions of the software do not offer the same   functionality.      3. Minimum screen resolution is 1024 × 768.      4. For best results, set the view to Page Width.      5. When you exit this lesson, do not save changes. 






page3.svg

  Apr 13-1:23 PM        Answer             Non-Permissible Values    For each rational expression, determine all non-permissible values.     State the domain for each expression. Use the pen tool to write your answers.   Drag the Answer tab under each question to reveal the answer.     Chapter     6    The non-permissible value is   x  = –2.   The domain is    { x   ∈  R,  x   ≠  –2}    The non-permissible value is   p  = 5.   The domain is    { p   ∈  R,  p   ≠  5}    The non-permissible value   is  x  = 0.   The domain is    { x   ∈  R,  x   ≠  0}    The non-permissible values   are  x  = 0 and  y  = 0.   The domain is    { x,y   ∈  R,  x   ≠ 0 ,  y   ≠ 0 }    The non-permissible values   are  x  = 2 and  x  = –2.   The domain is    { x   ∈  R,  x   ≠±  2}    The non-permissible values   are  x  =  y .   The domain is    { x,y   ∈  R,  x   ≠  y }     1.     2.    3.    4.    5.    6.           Hint    A non-permissible value is any value   for a variable that makes an   expression undefined.   In a rational expression, it is a value   that results in a denominator of zero.
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  Apr 13-1:23 PM              Add or Subtract Rational   Expressions      Click here for the solution.    Use the pen tool to write the sum or difference below each   expression.     Chapter     6          Answer   
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